DECESPUGLIATORE KD 26/ KD 34 BENASSI




DECESPUGLIATORE KD 26 /KD34

BENASSI

POS. CODICE DESCRIZIONE Q.TA’
49 KD260249 | Protezione di gomma 1
50 | KD260250 | Supporto impugnatura 1
51 KD260251 |Impugnatura completa 1
52 | KD260252 |Comando accel. Cpl 1
53 | KD260253 | Vite M5x16 5
54 KD260254 |Boccola 1
55 KD260255 | Guscio Destro 1
56 | KD260256 [Impugnatura Gomma 1
57 KD260257 |Boccola 1
58 KD260258 | Cavo con Interruttore 1
59 KD260259 | Arpione 1
60 | KD260260 |Molla 1
61 KD260261 |Molla 1
62 KD260262 |Leva Sicura 1
63 | KD260263 |Molla 1
64 KD260264 |Leva acc. 1
65 KD260265 |Cavo completo 1
66 | KD260266 |Tubo 1
67 | KD260267 |Vite M5x25 2
68 | KD260268 | Vite M5x35 1
69 KD260269 | Guscio sinistro 1
70 | KD260270 |Cavo 2
71 KD260271 |Cinghia Completa 1
72 | KD260272 |Testina Completa 1
73 KD260273 | Scatola 1
74 | KD260274 | Vite SX 1
75 KD260275 |Rondella 1
76 | KD260276 |Molla 1
77 | KD260277 |Filo Nylon 2
78 KD260278 | Contenitore Filo 1
79 KD260279 |Pulsante 1
80 | KD260280 |Coperchio 1
81 KD260281 | Supporto Protezione 1
82 | KD260282 |Rondella 1
83 KD260283 | Protezione 1
84 | KD260284 |Filtro 2
85 KD260285 | Gruppo lama e prot. 1
86 KD260286 | Protezione 1
87 KD260287 |Lama 1

POS. CODICE DESCRIZIONE Q.TA’
1 KD260201 | Testina completa 1
2 KD260202 | Seeger 1
3 KD260203 | Seeger 1
4 KD260204 | Cuscinetto 2
5 KD260205 |Pignone 1
6 KD260206 | Ghiera Ferma Pignone 1
7 KD260207 | Vite M6x20 5
8 KD260208 |Rondella 6
9 | 0240400150 | Vite M5x12 5
10 | KD260210 |Bullone M6x12 2
11 KD260211 |Rondella 5
12 KD260212 | Testina nuda 1
13 KD260213 | Protezione Testina 1
14 KD260214 | Cuscinetto 1
15 KD260215 |Ingranaggio 1
16 | KD260216 |Pignone 1
17 KD260217 | Cuscinetto 1
18 KD260218 | Seeger 1
19 | KD260219 |Disco superiore testina 1

20 KD260220 | Disco inferiore testina 1
21 KD260221 |Rondella 1
22 | KD260222 |Dado sx 1
23 KD260223 | Spina elastica 1
24 KD260224 | Disco lama 1
25 KD260225 | Frizione cpl KD 26 1
25 KD340225 | Frizione cpl KD 34 1
22 | KD260226 |Campana Friz. KD 26 1
26 | KD340226 |Campana Frizi. KD 34 1
27 KD340227 | Seeger 1
28 | 0217600050 |Cuscinetto 1
29 | KD260229 |Seeger 1
30 KD260230 |Manicotto KD 26 1
30 KD340230 |Manicotto KD 34 1
31 KD260231 | Ativibrante in gomma 1
32 | KD260232 | Vite M5x25 2
33 | KD260233 |Rondella 7
34 | KD260234 |Rondella 6
35 KD520245 | Semi boccola 1
36 KD520246 | Semi boccola 1
37 KD260237 |Boccola Completa 1
38 KD260238 | Supporto 1
39 | KD260239 | Supporto Boccola 1
40 | KD260240 | Vite M5x20 2
41 KD260241 |Dado M5 5
42 | KD260242 | Asta Completa 1
43 KD260243 | Supporto Gomma 6
44 KD260244 | Anello di tenuta 6
45 KD260245 | Albero Barra 1
46 | KD260246 |Tubo alluminio 1
47 | KD260247 | Vite M5x30 5
48 KD260248 | Impugnatura 1




